TECHNICAL EVALUATION REPORT

(As Per Rule 35 Of PP Rules, 2004)

1Name of Procuring Agency:Wapda Hospital Quetta2Method of Procurement:Single Stage two Envelopes3Title of Procurement:Supply Of Disposables items4Tender Inquiry No:MS/WHQ/Tender Notice/3216

5 PPRA Ref. No. (TSE): TS552076E

6 Date & Time of Bid Closing: 29.11.2024 11:00 AM
7 Date & Time of Bid Opening: 30.11.2024 11:30 AM

8 No. Of bids received

9 Criteria for Bid Evaluation: As Per Bidding Documents

10 Details of Bid Evaluation: As Follows

Sr. no	Name of bidder	Tender Purchase receipt	Original bid security	Income Tax, Sales Tax registration Certificate		Valid Professional Tax Certificate		Bid Form 2 (Letter of intention)	Bid Form 3 (Technical Evaluation Form)	Bid Form 6 (Affidavit on Stamp paper Rs.100)	Bid Form 7 (Integrity Packt)	Drug manufacturing/sales import license where applicable	Status	Remarks
1	Qamar Trading Company	Yes	Yes	Yes	Yes	N.A	Yes	Yes	Yes	Yes	Yes	Yes	Qualified	er 35 of 1
2	Bilal & Sons Enterprises	Yes	Yes	Yes	Yes	N.A	Yes	Yes	Yes	Yes	Yes	Nill	Dis-qualified	As por rule 3

PharmacistAssistant Director (HR&A)Assistant Manager (A&F)Medical SuprintendentWAPDA Hospital QuettaWAPDA Hospital QuettaWAPDA Hospital Quetta

TECHNICAL EVALUATION REPORT

(As Per Rule 35 Of PP Rules, 2004)

Name of Procuring Agency: **Wapda Hospital Quetta**

Method of Procurement: Single Stage two Envelopes Title of Procurement: Supply Of Disposables items

Tender Inquiry No: MS/WHQ/Tender Notice/3216

PPRA Ref. No. (TSE): TS552076E

29.11.2024 11:00 6 Date & Time of Bid Closing:

 \mathbf{AM}

30.11.2024 11:30 Date & Time of Bid Opening:

 \mathbf{AM}

No. Of bids received

As Per Bidding Documents Criteria for Bid Evaluation:

10 Details of Bid Evaluation: As Follows

Financial Bid Opening On 16.12.2024

Stage-I

Sr.No	Name of Bidders	Status	Rule/Regulation/SBD*/Policy/ Basis for Rejection / Acceptance as per Rule 35 of PP Rules, 2004.				
1	Qamar Trading Company	Qualified	Conformity with bid evaluation criteria				
2	Bilal & Sons Enterprises	Dis-Qualified	Non-Conformity with bid evaluation criteria				

DISPOSABLE ITEMS LIST

Sr.No	Item Name	Required Company/Equivalent	Name of Quoted Item/ Brand	Bidders Name	Technical Status	Pack Size	Rules/Regulation/SBD*/Policy/Basis for Rejection/Acceptance as per Rule 35 of PPRA Rules, 2004
1	Abdominal Spange	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
1	Abdominal Sponge	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
2	Accu Chack String (Instant)	Rosch	ROSCH	Qamar Trading	Qualified	25's	Conformity with bid evaluation criteria
2	Accu Check Strips (Instant)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	25's	Non-Conformity with bid evaluation criteria
3	Accu Check Strips (Active)	Rosch	ROSCH	Qamar Trading	Qualified	100's	Conformity with bid evaluation criteria
3	Accu check strips (Active)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	100's	Conformity with bid evaluation criteria
4	Accu Check Strips (Performa)	Rosch	ROSCH	Qamar Trading	Qualified	100's	Non-Conformity with bid evaluation criteria
4	Accu check strips (Performa)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	100's	Conformity with bid evaluation criteria
5	Coudal Air way Small	China	China	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
•	Geudal Air way Small	China	China	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
6	Geudal Air way Large	China	China	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
"	Geudal All Way Large	China	China	Bilal & Sons	Dis-qulified	1's	Non-Conformity with bid evaluation criteria
7	Coudal Air way 2 No	China	China	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
′	Geudal Air way 3 No	China	China	Bilal & Sons	Dis-qulified	01'S	Non-Conformity with bid evaluation criteria
8	Goudal Air way 4 No	China	China	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
°	Geudal Air way 4 No	China	China	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
9	Geudal Air way 6 No	China	China	Qamar Trading	Qualified	01'S	Non-Conformity with bid evaluation criteria
9	Geudal All Way 6 NO	China	China	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
10	Haamassal (Dalygalina)	Sanofi	Sanofi	Qamar Trading	Qualified	01'S	Non-Conformity with bid evaluation criteria
10	Haemaccel (Polygeline)	Sanofi	Sanofi	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
11	Butterfly Needles 24 G	Master	Master	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
11	Butterny Needles 24 G	Master	Master	Bilal & Sons	Dis-qulified	01'S	Non-Conformity with bid evaluation criteria
12	Black Braided Silk No.0 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12'S	Conformity with bid evaluation criteria
12	Black Braided Slik No.0 Roulid	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12'S	Non-Conformity with bid evaluation criteria
13	Plack Braided Silk No. 01 Pound	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
	Black Braided Silk No. 01 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
14	Black Braided Silk No. 2 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
14	Diack Dialueu Siik No. 2 Kounu	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria

15	Black Braided Silk No.2/0 16mm	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
15	Black Braided Slik NO.2/O 16111111	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
16	Chromic Cotract No. 0	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
16	Chromic Catget No.0	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Non-Conformity with bid evaluation criteria
17	Chromic Cotract No. 1	Ethicon	Ethicon	Qamar Trading	Qualified	12'S	Conformity with bid evaluation criteria
17	Chromic Catget No.1	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12'S	Non-Conformity with bid evaluation criteria
10	Characia Catant No. 2	Ethicon	Ethicon	Qamar Trading	Qualified	12'S	Conformity with bid evaluation criteria
18	Chromic Catget No.2	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12'S	Conformity with bid evaluation criteria
10	Chromic Cotract No. 3/0	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
19	Chromic Catget No.2/0	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
20	Cotton Roll 400 gm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
20		Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
24	Cran Dandaga 10 am	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
21	Crep Bandage 10 cm	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1's	Non-Conformity with bid evaluation criteria
22	Crep Bandage 7.5 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
22		Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1's	Non-Conformity with bid evaluation criteria
22	Dastrona Calina 1000 ml	Medisole	Medisole	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
23	Destrose Saline 1000 ml	Medisole	Medisole	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
24	Destroya Calina FOO mil	Medisole	Medisole	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
24	Destrose Saline 500 ml	Medisole	Medisole	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
25	Daviduo de 250/ lui: 20 ml	Medisole	Medisole	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
25	Dextrose 25% Inj 20 ml	Medisole	Medisole	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
26	Diathornouloada	Medicare	Medicare	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
26	Diathermy Leads	Medicare	Medicare	Bilal & Sons	Dis-qulified	1's	Non-Conformity with bid evaluation criteria
27	Disposable Clause (plastic)	Medicare	Medicare	Qamar Trading	Qualified	100's	Conformity with bid evaluation criteria
27	Disposable Gloves (plastic)	Medicare	Medicare	Bilal & Sons	Dis-qulified	100's	Non-Conformity with bid evaluation criteria
20	Dianasahla Caura (Surragan) 70 CSM	Medicare	Medicare	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
28	Disposable Gown (Surgeon) 70 GSM	Medicare	Medicare	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
20	Disposable Latoy Clause (NA)	Safety	Medicare	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
29	Disposable Latex Gloves (M)	Safety	Medicare	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
20	Disposable Mask/Con/Cours Set /OT	Master	Master	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
30	Disposable Mask/Cap/Gown Set (OT	Master	Master	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria

31	Disposable Syringe 60 cc	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
31	Disposable Syringe 60 cc	Master	Master	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
32	Disposable Syringe 20 cc	Master	Master	Qamar Trading	Qualified	50's	Conformity with bid evaluation criteria
32	Disposable Syringe 20 CC	Master	Master	Bilal & Sons	Dis-qulified	50's	Non-Conformity with bid evaluation criteria
33	Disposable Syringe 10 cc	Master	Master	Qamar Trading	Qualified	100's	Conformity with bid evaluation criteria
33	Disposable Syringe 10 cc	Master	Master	Bilal & Sons	Dis-qulified	100's	Conformity with bid evaluation criteria
34	Dianocable Curings F as (Auto Lock)	Master	Master	Qamar Trading	Qualified	100's	Non-Conformity with bid evaluation criteria
34	Disposable Syringe 5 cc (Auto Lock)	Master	Master	Bilal & Sons	Dis-qulified	100's	Conformity with bid evaluation criteria
35	Disposable Syringe Insulin	Master	Master	Qamar Trading	Qualified	100's	Non-Conformity with bid evaluation criteria
33	Disposable Syringe insulin	Master	Master	Bilal & Sons	Dis-qulified	100's	Conformity with bid evaluation criteria
36	Disposable Towel (70 GSM)	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
30	Disposable Towel (70 d3ivi)	Master	Master	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
37	Dressing Fivation Fabric Tana	Mefix	Mefix	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
3/	Dressing Fixation Fabric Tape	Mefix	Mefix	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
38	E-T-T Tube cuffed No. 4mm	China	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
30	E-1-1 Tube curred No. 4mm	China	China	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
39	E-T-T Tube No 5 Cuffed	China	China	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
33	E-1-1 Tube No 5 Curred	China	China	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
40	E-T-T Tube No 6 Cuffed	China	China	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
40		China	China	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
41	E-T-T Tube No 6.5 Cuffed	China	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
41	E-1-1 Tube No 6.3 Curred	China	China	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
42	E-T-T Tube No 7 Cuffed	China	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
42	E-1-1 Tube No 7 Curred	China	China	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
43	E-T-T Tube Cuffed Peads	China	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
43	E-1-1 Tube Curred Peads	China	China	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
44	Face Mask	China	China	Qamar Trading	Qualified	50's	Non-Conformity with bid evaluation criteria
44	race Iviask	China	China	Bilal & Sons	Dis-qulified	50's	Conformity with bid evaluation criteria
45	Foley's Catheter 16	Medicare	Medicare	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
43	Foley S Catheter 10	Medicare	Medicare	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
46	Folovis Cathotor 19	Medicare	Medicare	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
40	Foley's Catheter 18	Medicare	Medicare	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria

47	nd Disinfectant Germany Made 1000	Strillium	Strillium	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
47	nd disinfectant Germany Made 1000	Strillium	Strillium	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
40	Disinfectant Local Made 500 ml	Surgellium	Surgellium	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
48	Disinfectant Local Made 500 mi	Surgellium	Surgellium	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
49	Lludragan Day Ovida	Pakistan	Pakistan	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
49	Hydrogen Per Oxide	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
50	Instrument Disinfectant	Korsolex	Korsolex	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
50	instrument disinfectant	Korsolex	Korsolex	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
51	I/V Chember	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
21	i/ v Chember	Master	Master	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
52	IV Canulla No.18	B-Cat	B-Cat	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
52	IV Callulla NO.18	B-Cat	B-Cat	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
53	IV Capulla No 20	B-Cat	B-Cat	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
33	IV Canulla No.20	B-Cat	B-Cat	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
54	IV Canulla No.22	B-Cat	B-Cat	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
34		B-Cat	B-Cat	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
55	IV Canulla No.24	B-Cat	B-Cat	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
33		B-Cat	B-Cat	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
56	IV Set	Medicare	Medicare	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
30		Medicare	Medicare	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
57	N.G Tube 8 No	China	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
37	N.G Tube 8 NO	China	China	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
58	N/S 100 ml	Medi sol	Medisole	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
36	N/3 100 IIII	Medi sol	Medisole	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
59	N/S 1000ml	Medi sol	Medisole	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
33	N/3 1000IIII	Medi sol	Medisole	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
60	N/S 500ml	Medi sol	Medisole	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
00	14/3 3001111	Medi sol	Medisole	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
61	Nasal Prong	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
01	ivasai Piolig	Master	Master	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
62	Nasal Prong Peads	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
UZ	ivasai riolig reaus	Master	Master	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria

63	Parafon Liquid	Pakistan	Pakistan	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
65	Parafen Liquid	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
64	Proline 1 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
64	Profine 1 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
65	Proline 2/0 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
65		Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
66	Proline 2/0 Straight	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
66		Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Non-Conformity with bid evaluation criteria
67	Proline 3/0 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
67	Profille 3/0 Roulid	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Non-Conformity with bid evaluation criteria
68	Dyodin Solo 450 ml	Brookes	Brooks	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
00	Pyodin Sole 450 ml	Brookes	Brooks	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
69	Pyodin Scrub 450 Ml	Brookes	Brooks	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
69	Pyddill Scrub 450 Wil	Brookes	Brooks	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
70	Pyodin Sole 50 ml	Brookes	Brooks	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
70		Brookes	Brooks	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
71	R/L 1000 ml	Medi Sol	Medisole	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
/1		Medi Sol	Medisole	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
72	R/L 500 ml	Medi Sol	Medisole	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
72	Ny E 300 IIII	Medi Sol	Medisole	Bilal & Sons	Dis-qulified	01'S	Non-Conformity with bid evaluation criteria
73	Redivac Bottle	China	China	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
/3	Redivac Bottle	China	China	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
74	Sensocain Spinal	Brookes	Brooks	Qamar Trading	Qualified	01'S	Non-Conformity with bid evaluation criteria
,-	Sensocani Spinai	Brookes	Brooks	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
75	Spongeston	China	China	Qamar Trading	Qualified	01'S	Non-Conformity with bid evaluation criteria
73	Spongeston	China	China	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
76	Spinal Needle No 22	China	China	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
70	Spirial Needle NO 22	China	China	Bilal & Sons	Dis-qulified	01'S	Non-Conformity with bid evaluation criteria
77	Spinal Needle No 25	China	China	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
,,	Spirial Needle NO 25	China	China	Bilal & Sons	Dis-qulified	01'S	Non-Conformity with bid evaluation criteria
78	Spirit Methyl	Pakistan	Pakistan	Qamar Trading	Qualified	01'S	Conformity with bid evaluation criteria
70	Spirit Metriyi	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria

79	Spirit Ammonia 60 ml	Pakistan	Pakistan	Qamar Trading	Qualified	01'S	Non-Conformity with bid evaluation criteria
/9	Spirit Ammonia 60 ml	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	01'S	Conformity with bid evaluation criteria
80	Chicking Diagton 7 Form	Paragon	Paragon	Qamar Trading	Qualified	1's	Non-Conformity with bid evaluation criteria
80	Sticking Plaster 7.5cm	Paragon	Paragon	Bilal & Sons	Dis-qulified	1's	Conformity with bid evaluation criteria
81	Strile Guase	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1's	Conformity with bid evaluation criteria
01	Stille Guase	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1's	Non-Conformity with bid evaluation criteria
82	Sustian Cathoton No. 9	Master	China	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
62	Suction Catheter No.8	Master	China	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
83	Sustian Connecting Tube	Master	Master	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
85	Suction Connecting Tube	Master	Master	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
84	Surgical Bandage 10 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
04	Surgical Balluage 10 Cili	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
85	Surgical Bandage 15 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
85	Surgical Balluage 15 Cili	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
86	Surgical Blade 15 No.s	Japan	Japan	Qamar Trading	Qualified	100's	Conformity with bid evaluation criteria
80		Japan	Japan	Bilal & Sons	Dis-qulified	100's	Non-Conformity with bid evaluation criteria
87	Surgical Blade 20 No.s	Japan	Japan	Qamar Trading	Qualified	100's	Conformity with bid evaluation criteria
87		Japan	Japan	Bilal & Sons	Dis-qulified	100's	Non-Conformity with bid evaluation criteria
88	Surgical Gloves 7.5	Ansil	Ansil	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
88		Ansil	Ansil	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
89	Surgical Gloves Size 8	Ansil	Ansil	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
83	Surgical Gloves Size 8	Ansil	Ansil	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
90	Surgical Guase	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	01's	Non-Conformity with bid evaluation criteria
90	Surgical Guase	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
91	Syringe Cutter	Medicare	Medicare	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
91	Syringe Cutter	ivieuicare	Medicare	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
92	Torniquete	Pakistan	Pakistan	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
32	Torriiquete	Fakistali	Pakistan	Bilal & Sons	Dis-qulified	01's	Non-Conformity with bid evaluation criteria
93	Urine Bag	Medicare	Medicare	Qamar Trading	Qualified	01's	Conformity with bid evaluation criteria
	Office Dag	ivicalcarc	Medicare	Bilal & Sons	Dis-qulified	01's	Conformity with bid evaluation criteria
94	Vicryl 0	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
	vici yi o	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria

95	Vicryl 01	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Non-Conformity with bid evaluation criteria
95			Ethicon	Bilal & Sons	Dis-qulified	12's	Conformity with bid evaluation criteria
96	Vicad 02	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
96	Vicryl 02	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12's	Non-Conformity with bid evaluation criteria
97	Vicryl 2/0	Ethicon	Ethicon	Qamar Trading	Qualified	12's	Conformity with bid evaluation criteria
3,			Ethicon	Bilal & Sons	Dis-qulified	12's	Non-Conformity with bid evaluation criteria
98	Water For Injection	Pakistan	Pakistan	Qamar Trading	Qualified	10's	Conformity with bid evaluation criteria
36			Pakistan	Bilal & Sons	Dis-qulified	10's	Non-Conformity with bid evaluation criteria

Pharmacist WAPDA Hospital Quetta Assistant Director (HR&A) WAPDA Hospital Quetta

Assistant Manager (A&F)
WAPDA Hospital Quetta

Medical Suprintendent WAPDA Hospital Quetta

FINANCIAL EVALUATION REPORT

(As Per Rule 35 Of PP Rules, 2004)

1Name of Procuring Agency:Wapda Hospital Quetta2Method of Procurement:Single Stage two Envelopes3Title of Procurement:Supply Of Disposables items4Tender Inquiry No:MS/WHQ/Tender Notice/3216

5 PPRA Ref. No. (TSE): TS552076E

6 Date & Time of Bid Closing: 29.11.2024 11:00 AM
7 Date & Time of Bid Opening: 30.11.2024 11:30 AM

8 No. Of bids received 2

9 Criteria for Bid Evaluation: As Per Bidding Documents

10 Details of Bid Evaluation: As Follows Financial Bid Opening On 16.12.2024

Stage-I

Sr.No	Name of Bidders	ne of Bidders Status Rule/Regulation/SBD*/I			
1	Qamar Trading Company	Qualified	Conformity with bid evaluation criteria		
2	Bilal & Sons Enterprises	Dis-Qualified	Non-Conformity with bid evaluation criteria		

Stage -II

DISPOSABLE ITEMS LIST

		Required	Name of Quoted			Pack	Offe	rd Price	Demanded	Evaluated		Rules/Regulation/SBD*/Policy/Basis for
Sr.No	Item Name	Company/Equivalent	Item/ Brand	Bidders Name	Technical Status	Size	Per Unit	Per Pack	Qty in Packs	Cost	Financial Status	Rejection/Acceptance as per Rule 35 of PPRA Rules, 2004
1	Abdominal Sponge	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	118	118	170	20060	Lowest Evaluated	Conformity with bid evaluation criteria
1	Abdominal Sponge	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
2	Accu Check Strips (Instant)	Rosch	ROSCH	Qamar Trading	Qualified	25	108.68	2717	1	2717	Lowest Evaluated	Conformity with bid evaluation criteria
*	Accu check strips (instant)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	25						Non-Conformity with bid evaluation criteria
,	Accu Chack Strips (Activa)	Rosch	ROSCH	Qamar Trading	Qualified	100	23.595	2359.50	2	4719	Lowest Evaluated	Conformity with bid evaluation criteria
3	Accu Check Strips (Active)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	100						Conformity with bid evaluation criteria
	Accu Check Strips (Performa)	Rosch	ROSCH	Qamar Trading	Qualified	100	31.46	3146	1	3146	Lowest Evaluated	Conformity with bid evaluation criteria
4	Accu check strips (Performa)	Rosch	ROSCH	Bilal & Sons	Dis-qulified	100						Conformity with bid evaluation criteria
5	Haamassal (Dalugalina)	Sanofi	Sanofi	Qamar Trading	Qualified	1	1211.2	1211.21	10	12112.1	Lowest Evaluated	Conformity with bid evaluation criteria
3	Haemaccel (Polygeline)	Sanofi	Sanofi	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
6	Butterfly Needles 24 G	Master	Master	Qamar Trading	Qualified	1	125.84	125.84	150	18876.00	Lowest Evaluated	Conformity with bid evaluation criteria
6	Butterny Needles 24 G	Master	Master	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
7	Black Braided Silk No.0 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12	369.42	4433	3	13299	Lowest Evaluated	Conformity with bid evaluation criteria
′	Black Braided Silk No.0 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Non-Conformity with bid evaluation criteria
	Die de Breided Cille No. 01 Decord	Ethicon	Ethicon	Qamar Trading	Qualified	12	369.42	4433	3	13299	Lowest Evaluated	Conformity with bid evaluation criteria
8	Black Braided Silk No. 01 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
	Black Braided Silk No. 2 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12	324.5	3894	3	11682	Lowest Evaluated	Conformity with bid evaluation criteria
9	Black Braided Silk NO. 2 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
- 10	Die als Dunishe d'Cills No. 3/0 1 Curana	Ethicon	Ethicon	Qamar Trading	Qualified	12	369.42	4433	2	8866	Lowest Evaluated	Conformity with bid evaluation criteria
10	Black Braided Silk No.2/0 16mm	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria

		Ethicon	Ethicon	Qamar Trading	Qualified	12	388.42	4661	3	13983	Lowest Evaluated	Conformity with bid evaluation criteria
11	Chromic Catget No.0	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12	5001.12	.002				Non-Conformity with bid evaluation criteria
		Ethicon	Ethicon	Qamar Trading	Qualified	12	369.42	4433	3	13299	Lowest Evaluated	Conformity with bid evaluation criteria
12	Chromic Catget No.1	Ethicon	Ethicon	Bilal & Sons	Dis-gulified	12	303.42	4433	3	13233	LOWEST LVAILACEA	Non-Conformity with bid evaluation criteria
		Ethicon	Ethicon	Qamar Trading	Qualified	12	766.75	9201	2	18402	Lowest Evaluated	Conformity with bid evaluation criteria
13	Chromic Catget No.2	Ethicon	Ethicon	Bilal & Sons	Dis-gulified	12	700.73	3201		10402	LOWEST EVALUATED	Conformity with bid evaluation criteria
		Ethicon	Ethicon	Qamar Trading	Qualified	12	398.25	4779	2	9558	Lowest Evaluated	Conformity with bid evaluation criteria
14	Chromic Catget No.2/0	Ethicon	Ethicon	Bilal & Sons	Dis-gulified	12	330.23	4773		9338	LOWEST LValuateu	Conformity with bid evaluation criteria
	Cotton Ball 400 gm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	802	802	50	40100	Lowest Evaluated	Conformity with bid evaluation criteria
15	Cotton Roll 400 gm					_	802	802	50	40100	Lowest Evaluated	,
		Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1	205	205	440	22450		Conformity with bid evaluation criteria
16	Crep Bandage 10 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	295	295	110	32450	Lowest Evaluated	Conformity with bid evaluation criteria
		Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
17	Crep Bandage 7.5 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	260	260	110	28600	Lowest Evaluated	Conformity with bid evaluation criteria
		Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
18	Destrose Saline 1000 ml	Medisole	Medisole	Qamar Trading	Qualified	1	150	150	80	12000	Lowest Evaluated	Conformity with bid evaluation criteria
		Medisole	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
19	Destrose Saline 500 ml	Medisole	Medisole	Qamar Trading	Qualified	1	131.56	131.56	45	5920.2	Lowest Evaluated	Conformity with bid evaluation criteria
		Medisole	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
20	Dextrose 25% Inj 20 ml	Medisole	Medisole	Qamar Trading	Qualified	1	25	25	80	2000	Lowest Evaluated	Conformity with bid evaluation criteria
	DEXT 036 2570 mg 20 mm	Medisole	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
21	Diathermy Leads	Medicare	Medicare	Qamar Trading	Qualified	1	472	472	80	37760	Lowest Evaluated	Conformity with bid evaluation criteria
	Diatricitity Leads	Medicare	Medicare	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
22	Disposable Gloves (plastic)	Medicare	Medicare	Qamar Trading	Qualified	100	0.66	66	90	5940	Lowest Evaluated	Conformity with bid evaluation criteria
22	Disposable dioves (plastic)	Medicare	Medicare	Bilal & Sons	Dis-qulified	100						Non-Conformity with bid evaluation criteria
23	Disposable Latex Gloves (M)	Safety	Medicare	Qamar Trading	Qualified	1	1339	1339	26	34814	Lowest Evaluated	Conformity with bid evaluation criteria
23	Disposable Latex Gloves (IVI)	Safety	Medicare	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Dianagable Mastr/Con/Corres Set /OT	Master	Master	Qamar Trading	Qualified	1	47	47	200	9400	Lowest Evaluated	Conformity with bid evaluation criteria
24	Disposable Mask/Cap/Gown Set (OT-	Master	Master	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Dianasahla Suringa CO as	Master	Master	Qamar Trading	Qualified	1	85.8	85.8	10	858	Lowest Evaluated	Conformity with bid evaluation criteria
25	Disposable Syringe 60 cc	Master	Master	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
	Discount of Company 20 and	Master	Master	Qamar Trading	Qualified	50	43	2150	3	6450	Lowest Evaluated	Conformity with bid evaluation criteria
26	Disposable Syringe 20 cc	Master	Master	Bilal & Sons	Dis-qulified	50						Non-Conformity with bid evaluation criteria
		Master	Master	Qamar Trading	Qualified	100	22.86	2286	18	41148	Lowest Evaluated	Conformity with bid evaluation criteria
27	Disposable Syringe 10 cc	Master	Master	Bilal & Sons	Dis-qulified	100						Conformity with bid evaluation criteria
		Master	Master	Qamar Trading	Qualified	100	16.96	1696	60	101760	Lowest Evaluated	Conformity with bid evaluation criteria
28	Disposable Syringe 5 cc (Auto Lock)	Master	Master	Bilal & Sons	Dis-gulified	100						Conformity with bid evaluation criteria
		Master	Master	Qamar Trading	Qualified	1	140	140	150	21000	Lowest Evaluated	Conformity with bid evaluation criteria
29	Disposable Towel (70 GSM)	Master	Master	Bilal & Sons	Dis-qulified	1	110	110	130			Non-Conformity with bid evaluation criteria
		Mefix	Mefix	Qamar Trading	Qualified	1	967.6	967.60	12	11611.2	Lowest Evaluated	Conformity with bid evaluation criteria
30	Dressing Fixation Fabric Tape	Mefix	Mefix	Bilal & Sons	Dis-qulified	1	307.0	307.00	12	11011.2	LOWEST EVALUATED	Non-Conformity with bid evaluation criteria
		China	China	Qamar Trading	Qualified	1	171.6	171.60	5	858	Lowest Evaluated	Conformity with bid evaluation criteria
31	E-T-T Tube cuffed No. 4mm	China	China	Bilal & Sons	Dis-gulified	1	1/1.0	1/1.00	J	838	LOWEST Evaluated	·
				+	Qualified	1	160.16	160.16	12	1021.02	Lowest Evaluated	Conformity with bid evaluation criteria
32	E-T-T Tube No 5 Cuffed	China China	China	Qamar Trading	Dis-gulified	1	100.16	160.16	12	1921.92	Lowest Evaluated	Conformity with bid evaluation criteria
			China	Bilal & Sons	· .		160.16	160.16	13	1024.02	Laurant Frankrickerd	Conformity with bid evaluation criteria
33	E-T-T Tube No 6 Cuffed	China	China	Qamar Trading	Qualified	1	160.16	160.16	12	1921.92	Lowest Evaluated	Conformity with bid evaluation criteria
		China	China	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria

		China	China	Qamar Trading	Qualified	1	160.16	160.16	12	1921.92	Lowest Evaluated	Conformity with bid evaluation criteria
34	E-T-T Tube No 6.5 Cuffed	China	China	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
		China	China	Qamar Trading	Qualified	1	160.16	160.16	12	1921.92	Lowest Evaluated	Conformity with bid evaluation criteria
35	E-T-T Tube No 7 Cuffed	China	China	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
	5.7.7.1.0.11.0.1	China	China	Qamar Trading	Qualified	1	171.6	171.60	5	858	Lowest Evaluated	Conformity with bid evaluation criteria
36	E-T-T Tube Cuffed Peads	China	China	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Sana Marak	China	China	Qamar Trading	Qualified	50	7.722	386.10	15	5791.50	Lowest Evaluated	Conformity with bid evaluation criteria
37	Face Mask	China	China	Bilal & Sons	Dis-qulified	50						Conformity with bid evaluation criteria
	Disinfortent Local Made 500 ml	Surgellium	Surgellium	Qamar Trading	Qualified	1	1106	1106	12	13272	Lowest Evaluated	Conformity with bid evaluation criteria
38	Disinfectant Local Made 500 ml	Surgellium	Surgellium	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Hudas as Bon Ovida	Pakistan	Pakistan	Qamar Trading	Qualified	1	100.1	100.10	7	700.7	Lowest Evaluated	Conformity with bid evaluation criteria
39	Hydrogen Per Oxide	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Instrument Bisinfortent	Korsolex	Korsolex	Qamar Trading	Qualified	1	2044.9	2044.90	5	10224.50	Lowest Evaluated	Conformity with bid evaluation criteria
40	Instrument Disinfectant	Korsolex	Korsolex	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	164.61	Master	Master	Qamar Trading	Qualified	1	228.8	228.80	40	9152.00	Lowest Evaluated	Conformity with bid evaluation criteria
41	I/V Chember	Master	Master	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
		B-Cat	B-Cat	Qamar Trading	Qualified	1	155	155	45	6975	Lowest Evaluated	Conformity with bid evaluation criteria
42	IV Canulla No.18	B-Cat	B-Cat	Bilal & Sons	Dis-gulified	1						Non-Conformity with bid evaluation criteria
		B-Cat	B-Cat	Qamar Trading	Qualified	1	150.15	150.15	40	6006.00	Lowest Evaluated	Conformity with bid evaluation criteria
43	IV Canulla No.20	B-Cat	B-Cat	Bilal & Sons	Dis-gulified	1						Conformity with bid evaluation criteria
		B-Cat	B-Cat	Qamar Trading	Qualified	1	155	155	1000	155000	Lowest Evaluated	Conformity with bid evaluation criteria
44	IV Canulla No.22	B-Cat	B-Cat	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
		B-Cat	B-Cat	Qamar Trading	Qualified	1	177	177	850	150450	Lowest Evaluated	Conformity with bid evaluation criteria
45	IV Canulla No.24	B-Cat	B-Cat	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
		Medicare	Medicare	Qamar Trading	Qualified	1	47	47	2400	112800	Lowest Evaluated	Conformity with bid evaluation criteria
46	IV Set	Medicare	Medicare	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
		China	China	Qamar Trading	Qualified	1	214.5	214.50	7	1501.5	Lowest Evaluated	Conformity with bid evaluation criteria
47	N.G Tube 8 No	China	China	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
	N/C 100	Medi sol	Medisole	Qamar Trading	Qualified	1	95	95	900	85500	Lowest Evaluated	Conformity with bid evaluation criteria
48	N/S 100 ml	Medi sol	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
40	N/C 1000	Medi sol	Medisole	Qamar Trading	Qualified	1	85.8	85.80	280	24024.00	Lowest Evaluated	Conformity with bid evaluation criteria
49	N/S 1000ml	Medi sol	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	N/C FOOml	Medi sol	Medisole	Qamar Trading	Qualified	1	112	112	280	31360	Lowest Evaluated	Conformity with bid evaluation criteria
50	N/S 500ml	Medi sol	Medisole	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Parafen Liquid	Pakistan	Pakistan	Qamar Trading	Qualified	1	70	70	15	1050	Lowest Evaluated	Conformity with bid evaluation criteria
51	Paraleli Liquid	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
52	Dualina 1 Dayard	Ethicon	Ethicon	Qamar Trading	Qualified	12	566.04	6792.50	10	67925	Lowest Evaluated	Conformity with bid evaluation criteria
52	Proline 1 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
	Dralina 2/0 Bound	Ethicon	Ethicon	Qamar Trading	Qualified	12	566.04	6792.50	5	33962.5	Lowest Evaluated	Conformity with bid evaluation criteria
53	Proline 2/0 Round	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
54	Droling 3/0 Straight	Ethicon	Ethicon	Qamar Trading	Qualified	12	637.54	7650.50	5	38252.50	Lowest Evaluated	Conformity with bid evaluation criteria
54	Proline 2/0 Straight	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Non-Conformity with bid evaluation criteria
55	Proline 3/0 Round	Ethicon	Ethicon	Qamar Trading	Qualified	12	554.13	6649.50	2	13299	Lowest Evaluated	Conformity with bid evaluation criteria
22	Profile 5/0 Rouliu	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Non-Conformity with bid evaluation criteria
56	Pyodin Sole 450 ml	Brookes	Brooks	Qamar Trading	Qualified	1	2124	2124	25	53100	Lowest Evaluated	Conformity with bid evaluation criteria
30	F yount 30le 430 iiii	Brookes	Brooks	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria

		Brookes	Brooks	Qamar Trading	Qualified	1	313.17	313.17	70	21921.9	Lowest Evaluated	Conformity with bid evaluation criteria
57	Pyodin Sole 50 ml	Brookes	Brooks	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	- //	Medi Sol	Medisole	Qamar Trading	Qualified	1	157.3	157.30	450	70785	Lowest Evaluated	Conformity with bid evaluation criteria
58	R/L 1000 ml	Medi Sol	Medisole	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
	D // 500 J	Medi Sol	Medisole	Qamar Trading	Qualified	1	127.27	127.27	370	47089.90	Lowest Evaluated	Conformity with bid evaluation criteria
59	R/L 500 ml	Medi Sol	Medisole	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
		Brookes	Brooks	Qamar Trading	Qualified	1	600.6	600.60	8	4804.8	Lowest Evaluated	Conformity with bid evaluation criteria
60	Sensocain Spinal	Brookes	Brooks	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Casassatas	China	China	Qamar Trading	Qualified	1	822.25	822.25	12	9867	Lowest Evaluated	Conformity with bid evaluation criteria
61	Spongeston	China	China	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
62	Crainel Needle Ne 22	China	China	Qamar Trading	Qualified	1	214.5	214.50	12	2574	Lowest Evaluated	Conformity with bid evaluation criteria
62	Spinal Needle No 22	China	China	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
-	Crainel Needle Ne 25	China	China	Qamar Trading	Qualified	1	500.5	500.50	15	7507.5	Lowest Evaluated	Conformity with bid evaluation criteria
63	Spinal Needle No 25	China	China	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
	Conimit B A natheral	Pakistan	Pakistan	Qamar Trading	Qualified	1	516	516	18	9288	Lowest Evaluated	Conformity with bid evaluation criteria
64	Spirit Methyl	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	6 : :: 4 : : 60 !	Pakistan	Pakistan	Qamar Trading	Qualified	1	62.92	62.92	4	251.68	Lowest Evaluated	Conformity with bid evaluation criteria
65	Spirit Ammonia 60 ml	Pakistan	Pakistan	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
	Chicking Disease 7 Fees	Paragon	Paragon	Qamar Trading	Qualified	1	1156	1156	60	69360	Lowest Evaluated	Conformity with bid evaluation criteria
66	Sticking Plaster 7.5cm	Paragon	Paragon	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
67	Christo Connac	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	109	109	900	98100	Lowest Evaluated	Conformity with bid evaluation criteria
67	Strile Guase	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
68	Suction Cathotor No 9	Master	Master	Qamar Trading	Qualified	1	42.90	42.90	4	171.60	Lowest Evaluated	Conformity with bid evaluation criteria
00	Suction Catheter No.8	Master	Master	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
69	Suction Connecting Tube	Master	Master	Qamar Trading	Qualified	1	271.7	271.70	24	6520.80	Lowest Evaluated	Conformity with bid evaluation criteria
69	Suction Connecting Tube	Master	Master	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
70	Surgical Bandage 10 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	12	22.642	271.70	20	5434.00	Lowest Evaluated	Conformity with bid evaluation criteria
,,,	Surgical Balldage 10 cm	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
71	Surgical Bandage 15 cm	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	12	24.833	298	17	5066	Lowest Evaluated	Conformity with bid evaluation criteria
/1	Surgical Balldage 13 Cili	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
72	Surgical Blade 15 No.s	Japan	Japan	Qamar Trading	Qualified	100	59.345	5934.50	1	5934.50	Lowest Evaluated	Conformity with bid evaluation criteria
,-	Surgical blade 15 No.3	Japan	Japan	Bilal & Sons	Dis-qulified	100						Non-Conformity with bid evaluation criteria
73	Surgical Blade 20 No.s	Japan	Japan	Qamar Trading	Qualified	100	59.345	5934.50	3	17803.50	Lowest Evaluated	Conformity with bid evaluation criteria
,,	Surgical blade 20 No.3	Japan	Japan	Bilal & Sons	Dis-qulified	100						Non-Conformity with bid evaluation criteria
74	Surgical Gloves 7.5	Ansil	Ansil	Qamar Trading	Qualified	1	314.6	314.60	200	62920.00	Lowest Evaluated	Conformity with bid evaluation criteria
,,	Surgicul Gloves 7.5	Ansil	Ansil	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
75	Surgical Gloves Size 8	Ansil	Ansil	Qamar Trading	Qualified	1	314.6	314.60	80	25168	Lowest Evaluated	Conformity with bid evaluation criteria
	Sargical Gloves Size o	Ansil	Ansil	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
76	Surgical Guase	Cotton Craft	Cotton Craft	Qamar Trading	Qualified	1	59	59	180	10620	Lowest Evaluated	Conformity with bid evaluation criteria
,,	Surgicul Guuse	Cotton Craft	Cotton Craft	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria
77	Syringe Cutter	Medicare	Medicare	Qamar Trading	Qualified	1	442	442	15	6630	Lowest Evaluated	Conformity with bid evaluation criteria
	Syringe carrer	Wicalcule	Medicare	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
78	Torniquete	Pakistan	Pakistan	Qamar Trading	Qualified	1	171.6	171.60	10	1716.00	Lowest Evaluated	Conformity with bid evaluation criteria
	Torriiquete	i unistan	Pakistan	Bilal & Sons	Dis-qulified	1						Non-Conformity with bid evaluation criteria
79	Urine Bag	Medicare	Medicare	Qamar Trading	Qualified	1	280	280	80	22400	Lowest Evaluated	Conformity with bid evaluation criteria
1 - 1			Medicare	Bilal & Sons	Dis-qulified	1						Conformity with bid evaluation criteria

80	Vicryl 0	Ethicon	Ethicon	Qamar Trading	Qualified	12	768.63	9223.50	5	46117.5	Lowest Evaluated	Conformity with bid evaluation criteria
80	Viciyio	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
81	Vicryl 01	Ethicon	Ethicon	Qamar Trading	Qualified	12	786.5	9438	7	66066	Lowest Evaluated	Conformity with bid evaluation criteria
61	VICIYIOI	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Conformity with bid evaluation criteria
82	Vicryl 02	Ethicon	Ethicon	Qamar Trading	Qualified	12	863.96	10367.50	5	51837.5	Lowest Evaluated	Conformity with bid evaluation criteria
02	VICI YI OZ	Ltillcoll	Ethicon	Bilal & Sons	Dis-qulified	12						Non-Conformity with bid evaluation criteria
83	Vicryl 2/0	Ethicon	Ethicon	Qamar Trading	Qualified	12	792.46	9509.50	4	38038.00	Lowest Evaluated	Conformity with bid evaluation criteria
83	VICI yi 2/0	Ethicon	Ethicon	Bilal & Sons	Dis-qulified	12						Non-Conformity with bid evaluation criteria
	Total 20											

Pharmacist WAPDA Hospital Quetta Assistant Director (HR&A) WAPDA Hospital Quetta Assistant Manager (A&F)
WAPDA Hospital Quetta

Medical Suprintendent WAPDA Hospital Quetta